Miscellaneous Accessories
THE PRODUCTION OF THE P725 IS CURRENTLY SUSPENDED. CONTACT CUSTOMER SERVICE FOR

ORDERING OPTIONS.

Quantity Per

Item
Number | Note | Part Number |Description Package | Assembly
ARl P725 Kit, Crutch/Cane Holder 1 1
Holder, Crutch/Cane - P725 1 1
Cup, Crutch/Cane Holder, Black 1 1
Strap, Hook and Loop - P725 1 1
Plug Button, Black (7/8") 1 1
Screw w/ Washer (#10 x 7/8") 1 2
F 1035917-NLA | NLA - Heel Loop (Pair) 2 1
F 1017621 Heel Loop - Right/Left 1 1
B,C,F 1035907 Kit, Heel Loop Attaching Hardware (Pair) 2 1
D,E,F 1035931 Kit, Heel Loop Attaching Hardware (Pair) 2 1
F 1114911-NLA | NLA - Knob, Adjustment, Black (5/16-18 x 1-1/2") 1 1
F,H 1034622-NLA | NLA - Strap, Positioning, Seat/Chest w/ Auto Style 1 1
Push Button Buckle (Eyelet to Eyelet Length 69")
F.G 1034625 Strap, Positioning, Seat/Chest w/ Auto Style Push 1 1
Button Buckle (Eyelet to Eyelet Length 61")
F |40176X010-NLA | NLA - Pump, Tire 1 1
NOTE: A - Tighten knob assembly part number 1114911 comes standard on-chair for all models
B - 1650 Aluminum Footplate
C - Consists of: 2 ea. Screw, Phillips Head (1/4-20 x 2-1/4") 2 ea. Spacer (1/4 x 11/32 x 1-3/4") 2 ea. Locknut (1/4-20)
D - Consists of: 2 ea. Screw, Phillips Head (1/4-20 x 2-1/4") 2 ea. Spacer (1/4 x 11/32 x 1-3/4") 2 ea. Hex Nut w/ Nylon Cap,
and 2 ea. Flat Washer (1/4 x 3/4 x 3/32").
E - 1651 Composite Footplate

F - Not Shown

G - 18" Wide Van Seat
H - 20" Wide Van Seat
| - THE PRODUCTION OF THE P725 IS CURRENTLY SUSPENDED. CONTACT CUSTOMER SERVICE FOR ORDERING
OPTIONS.




